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Which of the fundamental RAM technologie:
faster write time?

What is the transfer rate of an eigh
per second and whose density is
characters/second that can be transmitted
which term? Tape drive is connected 1o a
tape which type of access device?

Q2. (a) | Explain the different types of

memory with block diagram.

A computer system uses |6-
in a direct-mapped manner
cacii memory word is | byte.

(a) Calculate the number of bits i
memory address,

(b) -

bit memory addresses. It h

3. .
Q3. (a) Explain in detail about the work
Memory Cards and their

n Cycle state diagram? |
is k bits long, then what should be its processor address? Defin

'regis'ter~reference and Memory-reference? What is the major d
EPROM and ROM circuitry? .
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I-track magnetic tape whose speed is 120 inches

1600 bits per inch? The number of
to the memory from the tape is denoted by
nd controlled by which system? Magnetic

mapping procedures in the organization of cache

as a 2K-byte cache organized
with 64 bytes per cache block. Assume that the size of

n each of the Tag, Block, and Word fields of the

ing of Flash Memory? What are Removable Flash

Applications (at least 3)? What are the Flash Memory
Standards?
(b) Assume we have the fol lowing values stored in memory and R1 storing 200.
Location Value
1000 1300
1100 1200
1200 800
1300 1200
What is loaded into the AC using the MARIE instruction Load 1000 when using
each of the following addressing modes?
a. Immediate b, Direct ¢. Indirect d. Indexed
Q4. (a) Describe about Instructio

f memory address register (MAR)

e three instructions of
ifference between the
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Wrlie CERIM 10 evaluate the arithmet;

i (4N
‘E(A-B4+Ce(Dey: D)/(G+ H«K)
a. Using 3 £eneral reoisier oo 'mputer with RISC jnsin 1
b. Using 4 general register Computer with 1wo instruction
( € Using an accumulator type Computer with one address instructions
| d. Using a stack organized computer with ZCro-address operation INSIructions [
04Marks

|
' Q5. (a) | Explain the interrupt cyele with the help of flow chan? When 3 device interrupt J
| Occurs, how does the Processor determines v hich device issued the interrupg? ;
| } | A computer USEs a memory ynj; with 256K words of 32 bits each. A binary [ 06 Marks |
Instruction code is stored in one word of memory. The instruction has four parts: an
indirect bit, an Operation code, a register code part to specify one of 64 registers, and
an address part. ;
a) How Mmany bits are there i the operation code, the register code part, and the
address par? . .
b) Draw the instruction word format and indicate the number of bits in each part.
¢) How many bits are there in the data and address inputs of the memory.

06 Marks

Explain in detajl the term « ipelining™ also draw the block diagram of Arithmetic
Pipeline and Instruction Pipeline?

What is the diffc.reuce.benvce:: a
many references to memory are




